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INSTRUCTIONS TO CANDIDATES

• Write your name, centre number and candidate 
number in the boxes on the first page. Please write 
clearly and in capital letters.

• Use black ink. HB pencil may be used for graphs and 
diagrams only.

• Answer ALL the questions.

• The information required to answer questions 1– 4 is 
contained within the Resource Booklet.

• Read each question carefully. Make sure you know 
what you have to do before starting your answer.

• You must show the calculations leading to your 
answers. There will be adequate space to show your 
workings.

• Write your answer to each question in the space 
provided. Additional paper may be used if necessary 
but you must clearly show your candidate number, 
centre number and question number(s).
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INFORMATION FOR CANDIDATES

• The number of marks is given in brackets [ ] at the 
end of each question or part question.

• The total number of marks for this paper is 120.

• Your Quality of Written Communication will be 
assessed in the two questions/sub-questions marked 
with an asterisk (*).

• In one of these questions, the focus will be on your 
ability to present numerical information legibly and 
in an appropriate accounting format. In the other, you 
will be assessed on the legibility and style of writing, 
the clarity and coherence of your arguments and the 
accuracy of your spelling, punctuation and grammar.
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1 REQUIRED

 (a) The Receipts and Payments Account for the year 
ended 30 April 2012.

  Show your workings for question 1(a) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [4]
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 (b) The Bar Trading Account for the year ended 
30 April 2012.

  Show your workings for question 1(b) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [4]
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 (c)* The Income and Expenditure Account for the 
  year ended 30 April 2012 AND a Balance Sheet as 

at 30 April 2012.

  Show your workings for question 1(c) below.

Working Box
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________ [21]
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 (d)* Assess the usefulness of each of the following 
  accounting concepts when preparing an Income 

and Expenditure Statement:
  • accruals
  • prudence
  • business entity
  • materiality

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________ [12]

Total marks [41]
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2 REQUIRED

 (a) Journal entries to correct the above errors 
(narratives are not required).

  Show your workings for question 2(a) below.

Working Box
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 _______________________________________ [14]
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 (b) The corrected Suspense Account, showing the 
opening balance and the correcting entries.

  Show your workings for question 2(b) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [6]

 (c) A statement to show the revised net profit.

  Show your workings for question 2(c) below.

Working Box
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [6]
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 (d) State and explain THREE errors which do NOT 
affect the agreement of a trial balance.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [9]

Total marks [35]
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3 REQUIRED

 (a) The Trading and Profit and Loss Account for the 
year ended 31 March 2012.

  Show your workings for question 3(a) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [4]
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 (b) The forecast Trading and Profit and Loss Account 
for the year ending 31 March 2013.

  Show your workings for question 3(b) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [4]
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 (c) Calculate the following ratios (where appropriate 
to two decimal places) for the year ended 
31 March 2012 and the year ended 31 March 2013:

  (i) gross profit as a percentage of sales, 2012

 _______________________________________

 _______________________________________

 Answer:  ____________________________

   gross profit as a percentage of sales, 2013

 _______________________________________

 _______________________________________

 Answer:  __________________________ [2]

  (ii) net profit as a percentage of sales, 2012

 _______________________________________

 _______________________________________

 Answer:  ____________________________

   net profit as a percentage of sales, 2013

 _______________________________________

 _______________________________________

 Answer:  __________________________ [2]
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  (iii) stock turnover, 2012

 _______________________________________

 _______________________________________

 Answer:  ____________________________

   stock turnover, 2013

 _______________________________________

 _______________________________________

 Answer:  __________________________ [2]

  (iv) return on capital employed, 2012

 _______________________________________

 _______________________________________

 Answer:  ____________________________

   return on capital employed, 2013

 _______________________________________

 _______________________________________

 Answer:  __________________________ [2]
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 (d) The manager of Rickesh Khaled Traders has been 
set the objective of improving the profitability of 
the business for the year ending 31 March 2013.

  Analyse the changes between the two years based 
on the ratios calculated and the other information 
provided.

  Assess whether or not Rickesh Khaled Traders 
has achieved its objective.

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [8]

Total marks [24]
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4 REQUIRED

 (a) Calculate the total depreciation for the years 
ended 30 April 2011 and 30 April 2012 using the 
original method (straight line) AND rates for:

  (i) Machinery

  (ii) Shop Fittings

  Show your workings for question 4(a) below.

Working Box
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  (i) Machinery  ______________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _____________________________________ [5]
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  (ii) Shop Fittings  ___________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _____________________________________ [3]
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 (b) Calculate the total depreciation for the years ended 
30 April 2011 and 30 April 2012 using the alternative 
method (reducing balance) AND rates for: 

  (i) Machinery

  (ii) Shop Fittings

  Show your workings for question 4(b) below.

Working Box
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  (i) Machinery  ______________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _____________________________________ [5]
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  (ii) Shop Fittings  ___________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _______________________________________

 _____________________________________ [3]
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 (c) A statement to show the net profit which would 
have been reported for each of the years ended 
30 April 2011 AND 30 April 2012 if the reducing 
balance method had been used.

  Show your workings for question 4(c) below.

Working Box

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________
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 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 __________________________________________

 ________________________________________ [4]

Total marks [20]
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BLANK PAGE



43

BLANK PAGE
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Copyright Information

OCR is committed to seeking permission to reproduce all third-party content 
that it uses in its assessment materials.  OCR has attempted to identify and 
contact all copyright holders whose work is used in this paper.  To avoid the 
issue of disclosure of answer-related information to candidates, all copyright 
acknowledgements are reproduced in the OCR Copyright Acknowledgements 
Booklet.  This is produced for each series of examinations and is freely 
available to download from our public website (www.ocr.org.uk) after the live 
examination series.
If OCR has unwittingly failed to correctly acknowledge or clear any 
third-party content in this assessment material, OCR will be happy to correct 
its mistake at the earliest possible opportunity.
For queries or further information please contact the Copyright Team, First 
Floor, 9 Hills Road, Cambridge CB2 1GE.
OCR is part of the Cambridge Assessment Group; Cambridge Assessment 
is the brand name of University of Cambridge Local Examinations Syndicate 
(UCLES), which is itself a department of the University of Cambridge.
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